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float totalMark ;

totalMark= (physicMark * physicCredit) +
(chemistryMark % chemistryCredit) +
(mathMark * mathCredit) +

(literacyMark * literacyCredit) +
(PEMark * PECredit);
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int totalCredit = physicCredit + chemistryCredit + mathCredit + literacyCredit + PECredit;
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float average = totalMark / totalCredit;
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Console. WriteLine('Total mark: " + totalMark);
Console. WriteLine( ' Total credit: " + totalCredit);

Console.WriteLine("Average: " average);
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using System;

class Average

{

static void Main()

{

floatphysicMark = 17.5F, chemistryMark = 19, mathMark = 14.. 5F;
float litracyMark = 18, PEMark = 19;

int physicCredit = 3, chemistryCredit = 2, mathCredit = 4;

int literacyCredit = 2, PECredit = 1;

float totalMark;

totalMark = (physicMark *k physicCredit) +

(chemistryMark * chemistryCredit) +

(mathMark % mathCredit) +

(litracyMark K literacyCredit) +

(PEMark K PECredit);

int totalCredit = physicCredit + chemistryCredit + mathCredit + literacyCredit
+ PECredit;

float average = totalMark / totalCredit;

Consolc.WriteLine("Total mark: " + totalMark);

Console.WriteLine("Total credit: " + totalCredit);
Console.WriteLine("Average: "y average);

Console.ReadKey();
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Console.WriteLine(a + d % n);
n+=1;
Console.WriteLine(a + d % n);
n+=1;
Console.WriteLine(a+dskn);
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Console.WriteLine(a+d%n);
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inta=5;
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Console. WriteLine(a);
Console. WriteLine(b);
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inta=5;
intb = a++;
Console. WriteLine(a);
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Which of the following is the correct way to initialize the variables i and j to a

value 10 each?

A) int i=10; B) inti=10,j=10;
int j=10;
C) inti,j; D) inti,j=10;
1=10;j=10;
E) inti=j=10; F) int i,j;
1=j=10;
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using System ;

class Expression

{
static void Main()
{
int weight = 700;
Console. WriteLine(weight >= 500); // True
char gender = 'm’;
Console. WriteLine(gender == 't '); // False
double colorWaveLength = 1.630;
Console. WriteLine(colorWaveLength> 1.621); / True
Console. WriteLine('B'=="'A"+ 1); // True
Console.ReadKey();
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if (mark < 10)
Console. WriteLine("Failed");
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;

if (password == "admin123")

Console. WriteLine("Welcome "); false

password == "admin123"

¢ true

/ "welcome"osr)&s\ /

<
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class Login

{

static void Main()
{
string password;
Console. Write("Enter password: ");
password = Console.ReadLine();
if (password == "admin123")
Console. WriteLine("Welcome");
Console. WriteLine("Press any key to continue. ..");

Console.ReadKey();

3903 oI —F¥ sl

WO



Vb5 0 45

s sg35,5 1514 5 aels 1) 5 den 5 i 52 VS Jaa o |, FY il )
S u.;';.il.aﬂ | asb

B> 342 53 e | L S5 00 & s sy sl el o P Jlio Y
S a8

sa 33 53 5038 S8bys 8 51 sy s sluel il ) plil iy, b p-’-iuﬁ‘
ol s sae gl sl s 0 3855 09 5 s - b3 o ) F secondNumber  firstNumber
S\ s o1 o 13 biggerNumber o6 4 Sar ke S S35 oS 0 (28 5555 008
S8 plmila 5l oy 3803 olomar s ol | oS o dnells G ae L) (355 (5 3) pia
saeolye s g3 3d oS o |y g3 ady) 5 b Canl 23Y 10 58543 30 STl s
JMke 35 gl 3 s o 513 15 50 30 biggerNumber sy oo 5 o2l & - 5 53 5505
580k w3 5 el sl ) s 935l i S b g0 e | biggerNumber 55 5 g 30
S sablia | PY 0l i 0 saliid ol 5 0 (ﬁw){” bt et 50 5k oS T 1

i

biggerNumber = firstNumber

{

false
secondNumber > biggerNumber

¢ true

biggerNumber = secondNumber
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class FindMaximum

{

static void Main()

{
string input;

int firstNumber , secondNumber ;

Console. Write("Enter a number: ");
input = Console.ReadLine(); Jsl sae il

firstNumber = int. Parse(input);

Console. Write("Enter another number: ");
input = Console.ReadLine(); p33 248 Zl 5

secondNumber = int. Parse(input);

int biggerNumber = firstNumber;
if (secondNumber>biggerNumber)
biggerNumber = secondNumber;

Console. WriteLine("The maximum number is: " + biggerNumber);

Console. WriteLine("Press any key to continue. ..");

Console.ReadKey();
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int remainder = number /. 2;
if (remainder == 0)
Console. WriteLine(number+" is Even.");
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int remainder = number X 2;

if (remainder = 8)

Console.WriteLine{nusber+™ is Even™);

Console.Readkey();
}
}
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int remainder = number /. 2;
if (remainder == 0)

Console. WriteLine(number+'"is Even");
if (remainder != 0)

Console. WriteLine(number + "is Odd");
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int remainder = number /. 2;
if (remainder == 0)
Console. WriteLine(number+'"is Even');
else
Console. WriteLine(number + " is Odd");
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class Salary
{

static void Main()
{
long income;
double tax, insurance, net;
string input;
Console. Write ("Enter income: ");
input = Console.ReadLine();
income = long. Parse(input);
insurance=income * 0.07 ;
if (income > 10000000)
{
tax = (income — 10000000) % 0.05 ;
Console. WriteLine('Tax="+ tax);
H
else
tax =0;
Console. WriteLine("Insurance="+ insurance);
net = income — insurance — tax;

Console. WriteLine('Net="+ net);

Console. WriteLine("Press any key to continue. ..");
Console.ReadKey();
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Console. WriteLine("Passed");
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class CheckNumbers

{

static void Main()

{
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string input;

int number;

Console. Write("Enter a number: ');
input = Console.ReadLine();

number = int. Parse(input);

int firstDigit = number 710 ;
if ((firstDigit == 0) || (firstDigit == 5))

Console. WriteLine("The number is a multiple of 5. ");

Console. WriteLine('Press any key to continue. ..");

Console.ReadKey();

(P o) iy 0 oas 308 e aali =70 sl

S 3305l A S TV 5 4 (30l 31 4 by s 5 2100 D)
B i gr plb amins

Sy el Gl 4 b alS o slol wly o ol sus 4 :d\f)mo
fail olsasl (2 2 YV il D0 8

15l g sl jaii & ) p0 4 oS JeaSS 1y Y Jle i o s N o Jlia

W 535)5 (srmpd 5o Clpo sy 4alS 5 600 ob sl casliy gl Tl byl oalia
239 g 4l o

oS Cdlys 5N 5 s adlS 5 ) Bb gl Jle el o KMok p-?-u}g‘

5 8 5130 4alS 5 608 pL L1 b it (6l s s oS gr 0 0 ke 53 50 1, el

33 ol G g Sl g ol 1o e w0 5y VBT S a0 daslin sout

ARA



l

o il 15,8 b

userName

oS Sl |y s adS

password

Y

n . n
userName = admin

false
—<— &&
password= "admin123"
Y
BPCETSIE PRI true
") Sl b

"welcome" oS r)&:—l

=i

S35 4l 568 LS s P A Ol

w)((admin)) 61)5 rtd‘)\b s)'\?‘ﬁﬁjjtgéﬁ:ﬁw‘ IS Ubjé (?—A Q)L:-}LB P
a5 530S laie O)le Kl ead o)l OB w5 ¢ cl @dmind 23y 50
P el nMM_yQ)lajb u.l\u.ql.w‘j ?_?a)uhtj_ .(,:;S@a.su.:.w\if_else

\Yo



class Login

{

static void Main()

{

string userName, password,

. n n
Console.Write(' Enter username: );

userName = Console.ReadLine();

Console. Write("Enter password: ");

password = Console.ReadLine();

if ((userName == "admin") && (password == "admin123"))
Console. WriteLine(”Welcome Admin. ");

else

Console. WriteLine("Invalid username or password!. ");

Console. WriteLine('Press any key to continue. . .");

Console.ReadKey();
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class CheckSeason

{

static void Main
{
string input;
int number;
Console. Write("Enter a number: ");
input = Console.ReadLine();

number = int.Parse(input);

if (number == V)

Console. WriteLine("Spring");
else if (number == Y)

Console. WriteLine("Summer");
else if (number == Y)

Console. WriteLine("Fall");
else if (number == ¥)

Console. WriteLine("Winter");
else

Console. WriteLine("Invalid Number!."):

Console. WriteLine("Press any key to continue. ..");

Console.ReadKey();
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class CheckSeason

{

static void Main()
{
string input;
Console. Write("Enter a number: ");
input = Console.ReadLine();
switch (input)
{
case '1":
Console. WriteLine("'Spring");
break;
case "2":
Console. WriteLine("Summer");
break;
case "3":
Console. WriteLine("Fall";
break;
case "4'":
Console. WriteLine("Winter");
break;
default:
Console. WriteLine("Tnvalid Number!");
break;
h
Console. WriteLine("Press any key to continue. . .");
Console.ReadKey();
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class SwitchDemo

{

static void Main(string[] args)
{
string userName, password;
Console. Write("Enter username: ");
userName = Console.ReadLine();
Console. Write("Enter password: ");
password = Console.ReadLine();
switch (userName)
{
case "admin":
if (password == "admin123")
Console. WriteLine("Welcome Manager. ");
else
Console. WriteLine("'Wrong password!");
break;
case "accountant':
if (password == "acc123")
Console. WriteLine("Welcome accountant.");

else
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Console. WriteLine(""'Wrong password!");
break;
case "sales":
if (password == "sales123")
Console. WriteLine("Welcome");
else
Console. WriteLine(""'Wrong password!");
break;
default:
Console. WriteLine("Invalid username!");
break;
b
Console. WriteLine('Press any key to continue. ..");

Console.ReadKey();
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Console. Write("Do you enjoy C# ? (yes/no/maybe): ");
string input = Console.ReadLine();
switch (input)
{
n "
case yes :
case 'maybe":
Console. WriteLine("Great!");
break;
n n
case no :
Console. WriteLine("Too bad!");
break;
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Console. WriteLine("'T'm sorry, | don’t understand that!");
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if ((number > 10) || (number < 0))
Console. WriteLine('The number should between zero to ten.");
else

Console. WriteLine("Good job!");
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if (number < 100)

number++;
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)
if (score > 0)
if (score < 100)
Console. WriteLine("Score =" + score);
o)
if (choice == 1)
Console.Clear();
if (choice == 2)
Console.Clear();
Console. WriteLine("Stating. . .");
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if (number >= 0)
if (number < 10)
failed++;
else
Console. WriteLine(number);
(<
if (number >= 0)
{
if (number < 10)
failed++;
}
else
Console. WriteLine(number);
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Y Boolean Expression

Y Comparison Operators
f Conditional Statement

0 Exclusive or (XOR)

4 Logical Operator
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